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First 15 minutes are allotted for the candidates to read the question paper.
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Instructions :
: _ L
1)  All questions are compulsory. O
i) This question paper has two sections ‘A’ and ‘B".
) Section ‘A’ contains 20 multiple choice type questions of 1 mark each th
has to be answered on OMR Answer Sheet by darkening completely tj
: ) }
correct circle with blue or black tallpoint pen. '
iv) After giving answer on OMR Answ% Sheet do not cut or use eraser, whiten
etc. ' N '
. “L -
V)  Section ‘B’ contains descriptive t&e questions of 50 marks. i
vi) Total 5 questions are there in this section.
vii) In the beginning of each questioﬁ it has been mentioned how many parts
it are to be attempted,
i
vili) Marks allotted to each question are mentioned against it.
ix) Start from the first question and go up to the last question. Do not was
your time on the question you caﬁot solve.
x) If you need place for rough work, do it on the left page of your answer b
and cross ( x ) the page. Do net write any solution on that page.
xi) Do not rub off the lines c;nnstruﬁd in a question of construction. Do wr
the steps of construction in brief(l§ asked.
_—
xii) Draw neat and correct figure ¢ipy solution of a question wherever it
gure (an q

28

necessary, otherwise In its abseﬂe the solution will be treated incompl

e

and wrong.
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Section 5 A
( ngf&wﬂ% e )

{ Multiple Choice 'tnu Questions )
R gemat ' a' M b W HCF 5% 3k 399 LCM 2ootawfa'am'b'wﬂ"m?3
(A) 205 (B) 1000 .
©) 200 D} 1bs 1

The HCF of two numbers 'a’ and ' b' is 5 and their LCM is 200. Then the product of
'‘a and ' b'is

&) 205 (B) 1000

(C) 200 (D) 195 1

HE 443 R _

&) ot B) i

(C) 3rafE . N sﬁfﬁ HIE T L

Tint number 443 is | o

(A) Integer , (B) Rational

(C) Irrational (D) None of these 1

I 20, 25 % LCM 1002 A HCF®I TR 2 .

(A) 4 (B) 10

) 20 | o s, 1

If LCM of 20, 25 is 100, then the value of HCF will be

A) 4 | ® 10

€) 20 | D) 5 1
i

aﬁx21+6=ilﬁﬁx$rmﬁ"ﬂ |

A) t1 B) D -

C) 3 (D) t4 1

028 [ Turn over
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If —Lt =1 then the value of x will(Bd

x?+6 10 )
—
(A) 1 (B) Ot 2
—
€ =3 (D) bt 4
. 00
e FEW 2x2 - 8x40=0 %I@wgfﬁ cﬂqﬂm
(A 2 B) 4
(C) 6 (D) 8.
_ 1ll be
If the roots of the equation 2x? _gx.E'?=o are equal, then the value of c Wil T
A 2 B 4
(C) 6 (D) 8
Erﬁagqa x2 -3x+5a 1 TH T 2?@ ‘a' &l o B
@ 2 ® s
© 2 {D}ﬂ%
| s
If 2 is a zero of the polynomial X2 —3?:34-5.:1 then the value of 'a' will be
(A) 2 B) 5
2 - 5
€z D) 3
qgug x? -5x+6 & A5 & O
(A) 4,-1 (B) -2,-3
€ -4,1 (D) 2,3,
The zeroes of the polynomial x% -5x+6 are
(A) 4,-1 B) __-2,-3
© -4,1 D) 52,3
—
&g(-s,alma@hﬁﬁmm?m
.
(A) W =gara (B) gﬁ?ﬂw@uﬁr ,
(€) g wguta (D) =g wgute
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tn which quadrant will the point (- 5, 6} lie ?

(A) First quadrant (B) %nnd quadrant
| (©) Third quadrant (D) Bolrth quadrant .
o ﬁ?ﬁﬁﬁmﬂg’?mi‘mﬁm%ﬁﬁm o Fafa wean § @) =9 ) waw &
0
&) raxges B) Tax 2.
na., O
© 27360 (D) 2ma? x'é%'d 1

g If the radius of a circle is 'a' and an arc of the circle subtends an angle 8 at the
centre then the length of the arc will be

O
0
(A) max B) 2nax—9_
360 B 2raxggs |
ra_ 6
€ TPxgis D 2,8 1
2 360 (D) 2ra®x==r

10. AABC3R wﬁﬁmﬁgwwm‘é@aaﬁﬂ LE = 56° T £C SR 2

@A) 45° B &
(C) 101° o) 4. 1

10, If AABC and ADEF are two similar trian%s. such that ZA = 45° and ZE = 56° then
ZC is equal to -

(A) 45° (B) 56°
(C) 101° (D) 79° 1

TR cosA=—l§§ 2@ tan A F A AW

(A) 1—5:"- . | (B) 1—%
. 13 )
© 5 D 13 1

RN cos A=-2 then the value of tan A will(B$
13 o

(B) %

12
S
© 1 o & 1

PO23 v i Tuﬁl over

(A}
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12. A coso =1 tan 0 @1 A B
o «
(A) -1 -
—> ]
1 AN
12. 1fcos 0 = 1 then the value of tan 0 wilbbe
(A -1 B O
. 1
() 1 - (D) 75
13, —2tan30" = A g
1+ tan? 30°
w L B L
S
c V3 (D)= —
¢ V3
—y
13. The value of —2203%"_ i) be =
1+ tan” 30°
V3 . 1
@ 5 ® 35
C) V3 b L
( O 7
14. 9¢ tan o = sin ¢ 8 @ o T TH A1 O
(A) 90° (B) 60°
(C) 45° (D) 0°.
14. If tan o = sin «a, then the value of a El be
(A) 90° (B) 60°
(C) 45° . D o
7028
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7
‘afz ww ga R fwan 6 2, ® uw frsgEue 7 W 60° &1 Hu & B, A I
fysaEuE &1 /IB B W)
-
(A) an@d? By 6n 2
2' —
{c) s=¥ (D53 12n &2 :

| If a sector of a circle with radius 6 cm subtends an angle of 60° at the centre then

' the area of the sector will be

gt

2

(A) 4mcm . (B) 2

brn cm

2 9 1

(C) 8mcm [l:.l]D 127 ¢cm |
7 a B YW1 F Qi T ver et ) frer w@n 9w @ R S 8 w1 ge SEes
Ll

(A)  6a” T2 {BE f 8a? 2
(C] 10&2 ﬁ]:ﬁz/- {DE i 1202 ﬁ'ﬂﬂ‘z

If two cubes of side a cm are joineﬁnd to end then the surface area of the formed

-

1

28

solid will be b,
) 6a? cm? (B) 842 em?
[C) 10a? cm? (D) 1242 cm? 1
freaferfaa grooft 1 ey &

Cullcra o-10 U] 1020 20-30 30-40

TRERAT £ 4 5 4 7
(A) 18 (B) 20
© 21 (D) 22 1
The mean of the following table will Bk
Class interval 0-10 —| 10-20 20-30 30-40

Frequency 4 i‘ 5 4 7
@A) 18 (Bg 20
€ 21 (D) 22 1

v [ Turn over
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18, fyaftRya arof @1 wrfeyes 9t B0 ) .
B 0-5 5-102| 10-15 15 \{\23
FTETET a 6 N 10 6 N\a,\
1.1 Ef
W QoIS Th Ly @) 1980
(C) 5-10 (D) 20-25
18. The median class of the following table will be
Class interval 0-5 5-10 10-15 15-20 2051
Frequency 4 6 10 6' \4"
(A) 10-15 B) 152 |
(C}) 5-10 (D) 20-25

19. fod! siftay d 53 Wmr 8 6 wivwar rf

(A)

S

1
7

2
7

(B)

~I|w

(D)

~J|

19. The probability of 53 Sundays in a leap y@ will be

(A)

(€)

20. afe o we Fiffew w9 A v @ @

(A)

(€)

NN -

0

1
2

3

B) =

4

(D) =
YTReRar grfl
D .

B) 1 ¢

3

D) 7

20. If an event occurs surely then its probabiffy} will be

(A)

(C)

7028
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( v e )

J
( Descriptive questions )

aoft GUE FAT :

@ RSN (4-373) @ smfir e 3y 2
(0 T3 (36, 15) R ywfeg A g0 wmefm 2
le) I8 TG RS w0 B o gl (- 1, 7) 30 (4, - 3) ) Prem G Fdrave
r_ F2: 3% 9@ A R s 2 2
(d) REHRTRE 1+tan? Angec2a 2

",
Wﬁﬂ?ﬁm.ﬁwwm%%mw%,ﬁﬁuﬁﬁwaﬁﬁmﬂ

Mﬁﬁ%lsﬁﬁaﬁﬁﬁﬁﬁ@*ﬁzﬁ—ﬂssﬁrﬁ%lmﬁaﬁﬁmmmﬁﬁm 2

0 ﬁvﬁfﬁ%wa{smmnﬁz@mommmﬁﬁm%mwﬁﬁa
WRart % Gt B e ¥ gl ﬁn:ri%iﬁaa HAiHs TIH T :

| giEm wrg -~ 1-3 3-5 5-7 7-9 | 9-11

j aiawl i T 7 8 2 2 1

i W AFS F qgAS w@ AR 2

:Do all the parts : -

(@) Prove that (4-3v2) is an irrational number. 2

'k{b] Find the distance of the point { 36, 15 ) from the origin. 2

iC] Find the coordinates of the point which divides the line segment joiniﬂg the
points(-—1,7)and[4,—3]int}6raﬁoof2:3. 2

;(d) Prove that 1+ tan? A=sec? A. E ' 2

A toy is in the form of a cone @adius 3:S cm mounted on a hemisphere of

same radius. The total height of fhe toy is 15-5 cmJ Rind the volume of the toy.
' o

2
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crs |

tesuilted in the follow;

b
ing data for QHr mumber of family mem
houscholds . -

kb
anih'_uizo o 1-a_ :ﬁ |
Number of | famlhrq ) o

7 0
the maoade of these data,

2 hﬁﬁmﬁﬁm%:

—

Mind

822(cR)
10 ‘!. qtlldfh
A survey conducted an 20 houscholda in g locality by wrouP
|
F
J
|
’
¢

(a) R agwe 342 - y_, %Wmaﬁmmmww*ﬁﬂﬁﬂﬁ%

=it !
ﬁmé#@rﬁmw&mmwmmww' 1
fﬁzﬁﬁq%@%%ﬁﬁng@ e farm @ o e Free o R B 81 g |
) @ B 2R & Pl e o e 6, ) ey e e o @ IR
W@)ﬁﬁ?aﬁmﬁﬁgﬁwﬁ‘él “.
(e) ﬁﬁ?mm@mm%ﬁ%%mm@%lw“mmm~
i) 9

¥R (feim ) [ 40-45 [ 4550 | 50-55 [ 5560 | 6065 | 65-70 | 70-75
fraflal 6 e | 2 3 | 8 6 6 3 2

0 T R A 5w A, 8w A 4 R 53 & @ ol A A o
Prewen e &1 et e e 2 s Rrasren e
() Tz ? (i) W7 (@) wIfR?

2. Do any five parts :

{a) Find the zeros of the quadraﬁg polynomlal 3x -x-4 and verify th
D
relationship between the zeros and-eoefficients.
(b) Find two numbers whose sum is é;land product is 182,

(¢} Prove that the tangent at any pogg of a circle is perpen f{qcto the radiu

th h t.
rough the pmflt of contac E{,D

” P L%

7028 ~t


https://www.upboardonline.com/

7028

11 822(CHB]|

(d) Prove that if in two triangles, corresponding angles are equal, then their
corresponding sides are in the sagc ratio ( proportion ) and hence the two
triangles are similar, -_ 4
(¢) The distribution table below g‘.vcsﬂc weight of the students of a class. Find
the median weight of the students. >

o
Weight (in kg ) | 40-45 | 45:50 | 50-55 | 55-60 | 60-65 | 65-70 70-75
Number of
2 3 8 6 6 3 2
Students

4

(ff A box contains 5 red marbles, EUhite marbles and 4 green marbles. One

marble is taken out of the box at random. What is the probability that the
marble taken out will be

(i) red? - (ii) white ? (iiij not green ? 4
demat A I8 gh F yyw 24 7@ A0 W B Rew o 9 @ 0, =3+2n & R
AT Bl g ‘ 6

—

e}
aﬁﬁﬁ@m@maﬁﬁ@waﬁwmweeﬁtﬁm% et
W AW 2 |, A I H@A 7 HifAg . 6
Find the sum of first 24 terms of the list of numbers whose n-th term is given
by a, =3+2n. https://www.upboardonline.com 6

OR
The sum of a two-digit number and the({filhmber formed by reversing its digits is 66.
If the difference between the digits of the number is 2, then find the number. 6

3ﬁtﬂmﬁﬁ@ﬁg@m%aﬂt@@nmmm&sm%%ﬁsmﬁm@hﬁ@
w1 & 3R S WY 300 F EW T A V3 F U g A gh, Tt ¥g w1 R ol =

T3, s R RS SR D 6
e

7%%%%&@113@%3%%&@%%%60@ A s e

| JETHA T 45° ]| T R FEE 719 Fifr 6

w/ { Turn over


https://www.upboardonline.com/

' (hat the P of the tre

850

A tree breaks due to storm and the broken part bends e

tan ,
g

the tree to the point where the top qﬁhc tree touches the "
the height of the tree. n

bct“’ccn thc fﬂ{J{ of

touches the ground making an anglaﬂ" with it. The di

—
R tion of the toP of-a cable
io .
From the top of a 7 metre high build{'-i::?g, the angle of eleva mine the height of

_ . o Deter
tower is 60° and the angle of depression of its foot is 45°. 6
the tower. - R =
?ﬁﬁ@ﬁwmm%mﬁﬁmmmg'a'é i

W@m%?mmaﬁaﬁwqﬁzﬁaﬁ{mﬁﬁﬁ'

o 3 =AY I
2Dﬁﬁﬁﬂl1€lﬁqmqﬁﬂaﬁ§;ﬁmaﬁqmomm3ﬁlﬂﬁ$ﬁﬁ ! 6
JAEUEl & HTBA T BN g

. . What is the greatest
A cubical block of-side 7 cm is sur@.ﬂtcd by a hemisphere

the soli
diameter the hemisphere can have ?End the surface arca of 1
COR
A chord of a circle of radius 20 cm subtends an angle of 60

: : : e circle.
areas of the corresponding minor and major segments of th

d so formed. 6

at the centre. Find the
6
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